Selection Kdark = oclcfg’;’k Kdark = ocggill: Kdark = ucg;grt
pr(J12) > 200GeV, 11(J12) < 24 66.5 70.4 67.8
Rt > 0.15 35.4 37.1 42.6
An(J1,]2) < 15 82.4 85.0 86.3
mr > 1.5TeV 66.9 47.3 36.4
N, =0 98.2 97.4 97.2
Ne=0 99.7 99.5 99.4
piss filters 99.9 99.9 99.9
AR(j1 2, Cnonfunctional) > 0.1 95.1 95.3 95.4
veto f,(j1) > 0.7 & pr(j1) > 1.0 TeV 99.9 99.9 100.0
Apmin < 0.8 88.1 90.6 80.0
Efficiency [%] 11 8.8 6.7
high-Rt 52.0 42.5 45.1
low-Rt 48.0 57.5 549
high-SV]2 29.3 29.5 20.9

low-SV]2 24.8 40.6 25.1



